[ Efficiency vs vertpos |

= 0.05
D 045 oo o e e
o Bl || : :
Z0.04fH T I
o E + . :
B.035fH T e
L2 H + ]+ L
= i R o A Y 0 T O O A Y € S0 R
5°%% IRy :
0.0250 4+ HIHFHEHF-F- EFHE e
0.0+ 1 4FH S

0.0158-
0.018H-- 1t 4T TH -
0.008f- -+ {h-{-if -+t oo Jebeee b g

PTTT! N A A
F------ e + -

1
H
*
"
<

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

~ 0.5
L S S -

o FE i i
L R R S IRRC IR
> F H : : : :
2 E : : : : :
JoI s S A S S A
) o : : : : :
£ 0.3F bt e
o o : : : : :
O SRRt EXREE Sl R S
R SR 4 I
T s RS SR o) N S
T ot RS SRS 8 O S

N TR

.............

o
U1
I
N
[ ——=
—t———
—_—
R~ ¥4
==

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
N 0.7 T T T
> E E E E E
OO L S A
€ : : : : :
R I S H i S A S
U I SRR MU S
P : : : : :
c0.06f------ A CAAAEAN AAREEAA AR
ko - - - - -
S : : : : :
£ 0.05g i T H s
o : : : : :

0.0 i Tl

0.03 1'::“_. ...... .......
0.02 b 4113 PO .......

0.01
4

L1
-4

Ratio

0.5

o i

10 15 20
Sim. PV z (cm)

-10



	Contents
	Page 1


